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QUESTION 1

Which statement about dynamic partitions is true? 

A. All fixed partitions are converted to dynamic as users become active in a traffic class 

B. They can only be configured for the aggregate traffic class 

C. Child class partitions, automatically convert the parent class into dynamic partitions 

D. The minimum subpartition size is 1024 bps 

Correct Answer: A 

 

 

QUESTION 2

Which option contains adaptive response agents? 

A. Network health, Unit health and Application health 

B. Component health, Application health and Active interfaces 

C. Unit health, CPU load balancing and Cluster health 

D. Component health, Active interfaces and Network health 

Correct Answer: A 

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/11.9/Content/Topics/
overviews/adaptiveresponse-overview.htm 

 

QUESTION 3

What statement accurately describes Folder classes and Default classes? 

A. Folder classes are used for exceptions, and Default classes are used to define how matches fortraffic flows are
found 

B. Folder classes are used for organization, and Default classes are used to catch unclassified traffic 

C. Folder classes and Default classes always share the same parent classes 

D. Folder classes are used to catch unclassified traffic, and Default classes are used for organization 

Correct Answer: A 
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QUESTION 4

What statement accurately describes an ignore policy? 

A. With an ignore policy, traffic is ignored but still counted as part of the link traffic under management 

B. It causes PackelShaper to treat specified flows as pass-through traffic 

C. With an ignore policy, the CU must be used to review RTM 

D. It traverses the traffic tree looking for a matching traffic class 

Correct Answer: A 

 

 

QUESTION 5

Which PacketShaper report displays the percentage of bytes that are NOT retransmits? 

A. The TCP Health graph 

B. The Network Efficiency graph 

C. The Normalized Network Delay graph 

D. The Top 10 Classes graph 

Correct Answer: B 

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/11.10/Content/PDFs/
AdaptiveResponse.pdf 
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